< Ntextrm{ch}>

Ratio to ATLAS

60

50

40

30

20

10

[EEY

0.5

13000 GeV pp

Jets

[ I T | I I I I T | T I |
B Average N . (ATLAS jet fragmentation) i
Cc
— m  ATLAS —
— --O-- Herwig++ 2.7.1 default —
| --d-- Herwig 7.2.1 default B
- ; ]
: _ /\ -E-,'l a | :
/I ! \Etl -7
- f% m B " - -
| 'E:’i: \C?’ i \\\ ; - |
- 5 [ .
| . —]
B | | | | | | | | | | | B
: T T T | T T T T | T T :
- ] .
: _ N IIII :
B -1 {-I- "EI'",%\ ] i ) il
R .
) b ]
1 1 1 " | " 1 1 1 1
0 1000 Q (P
extrm et
T} U [Gev]
textrm{

Rivet 3.1.10, = 1.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


